N = 0l & At & M A

2N ISP

M JEES 2 AYECA XA (BRES/UD)
Sl MNEA SMAX X4 (St
= A . 2 (S H) - HEM Ol A o4 I AR Husz
2,598,580 2,369, 133 229,447
2 339,650 339,650 0
(= 111,300 111,300 0
Al 2,147,630 1,918,183 229,447
2H AIHZ Al (BHABS/HD) 1,290,185 1,294,885 A4,700
=2 333,650 333,650 0
[ 104,525 104,525 0
Al 852,010 856,710 A4,700
498,776 503,476 A4,700
= 2,900 2,900 0
Al 495,876 500,576 A4,700
10,752 15,452 A4,700
0 4,700 A4,700
10 #ALAH BA2 0 4,700 A4,700
O JIEHs M2 HEAS#HE 22 FML2S
CH(XIZ=01) Xl A& ofHl [0l A E2] 0 2,700 A2,700
23 o
O JlzHs M2 MRABH HE 222 9
st MIMI25/2 EA OHI[0f&E2] 0 2,000 A2,000
3F ok
23 L HI2E 22 (BHES/MotET - +H) 1,019,169 789, 169 230,000
SHAQY HIEAA e 398,914 168,914 230,000
BAQY HIEAA XE 245,068 15,068 230,000
207 & ROH e 230,000 0 230,000
01 g EAH 230,000 0 230,000
O SIY=s2CX HWIHIESSE MLZAL L =
DIHAAS H=2XA 230,000,0008 = 1Al 230,000 0 230,000
HM2AHH (J|=23 D) (IIEH/IIE) 172,662 172,638 24
olad 29| 3,174 3,150 24
ol 29| 3,174 3,150 24
101 @124l 3,174 3,150 24
03 RIHL2Z2XEH 3,174 3,150 24
O Al2te 2824 23 3,174,000 3,174 3,150 24
HERESOIZ8#I3N)(BIES/M4GIEE - £8) 8,317 4,194 4,123
ERSPNES 8,317 4,194 4,123
BEXE 8,317 4,194 4,123
802 EH& 32 DI EF 8,317 4,194 4,123
01 2DExZea= 4,123 0 4,123
O 2012 G EFAQIEN AIE XA
2,058,960 * 1Al 2,059 0 2,059
O 20128 BEFEA SHA(ZELET) AEA
o 2,064 0 2,064
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